LABJNDu8-Dreieckshelligkeit T*
T* YocmL*w - nc=100,

T*L aganpus =[IN[A 1n+A2Y)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*(3,6)=327.T*,(18)=744,T*(90)=1158

log[T*/T* ]=0, m=0,33
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5 LY,=18
IN=36 1 Yy=90

LABJINDu8
Normfarbwertdifferenz
Yoc=L* w nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Ao a=1,0, siehe CIE 230:2019
dY0=0,36, A,=1,000, ¢=0,67

dY;¢=0,08, A =0,011, A,=0,0038
dY3,=0,02 Y,=18, dY=0,08

T*,=744 dY, dY, /Yy 0(‘J1‘.: 2
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log (AY/Y) LABJINDuUS
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y

(dY/Y}g=0,0040, Ayl
(dY/Y)g=0,0045, A =0 ,Ag 0, o
(dY/Y},=0,0070 Y, 1& dY=0,08
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log(dY/Y)==2,34 m,=-0, Bax -y _

T+, =744, d¥,=0,08 dY,/Y,=0,0045
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log (Y/AY)
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LABJINDu8
Normfarbwertkontrast
Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dYy=249,21, A,=1,000, ¢=0,67
(Y/dY)g=221,29, A;=0,011, A,=0,0038
(Y/dY 141,84 Y,=18, dY=0,08

=744, dY,=0,08 Y,/dY, 221
Iog(YldY):Z 34 m= o 13,7
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LABJINDu8 relative Dreieckshelligkeit T*/T*
YocmL*w - nc=100,

T aganbus =[IN[A 1n+A2nY)V/(A20A0n)] (Yn/100<Y<=Y,c)
T#n(3,6)=327,T* ,(18)=744.T*,(90)=1158

T*odT*=L,55, Ay=1,000, G=0,67
T*, 20,011, A= o 0038
T g TA=0,43 TH=743,79 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T* =744
1 Anwendungs-|
1 bereich
1y,=18

Yy =90

N=36

log(A Y/AY i)
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LABJNDuS relative
Normfarbwertdifferenz
Yoe=L*w ~ ne=100,

T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIY,=Ag A1 +AgYI/AY,

dYeg/dY,=4,43, Ay=1,000, ¢
Y¢/dY,=1,00, A\n=0,011, Az =o,oo
dY3 ¢dY,=0,31 Y, =18, d=0,08

log [(AY/Y) I (AYIY)] LABJINDuS relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yd/100<Y<=Y,()
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Ypo/(dY/Y)=0,88, Ay=1,000, ¢=0,67
(YY) g/(dY/Y=1,00, An=0,011, A,=0,0038
(dv/Y%i/(dY/Y‘L 56 é"_m ay= 1508

Togl@YIYY(EYYLJ=0, m=-0.13 ¥
T* =744 dY,=0,08 dY,/Y,=00045,  pIwendungs,
1y,=18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJNDuS relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)

(YVIAYY(YIAY), =Y IYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,67
(Y/dY)g/(Y/dY)=L.00, An=0.011, /,=0,0038
(Y/dY%vd(Y/dY =0,64 Y, 218, dY=0.08
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